Physics 227 Section 11 Fall 2014
Quiz 6, Tuesday, October 14,2014 2
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Remember: V = IR
Kirchoff’s Rules: atjunction ¥/=0; anyclosedloop SV =0=3¢-S LR,

Correct answers have correct units and 2 significant figures.
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The circuit shown in the figure contains two resistors and two batteries, each with an emf
and an internal resistance. '

a. What is the equivalent resistance of this circuit?
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b. What is the magnitude of the current in the circuit?
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¢. Is the current direction clockwise or counterclockwise?

d. What is the terminal voltage across the 16V battery? '
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